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000000 [1]040 000000 p.132-15200000000000000000000O0 (OOOO)
00000000 00000000000000 whileD forOdowhileOOOOOOOOOOOOOO
gboooooobobobooobobOobobm3ooooboobo01oogbooooooboooooo
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do—while 0000000 OOOO0OOODOOOOOOOOOO
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while (RS {
X1;
X2;
X3;

Yoo

0O 1:whileOOOOOOOOOODOO
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for (MHMERER; #EEHX; BEERL
X1; S~ :

X2; B
X3; \

} \

02 for000000O00O0ODOOO

do{ -
Xl;
X2;
XB;
Ywhile (HEfESEHZ) ;

N
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gboboooooooooboooobobOoooboooobobobo 10 3b0oboo0ooooooboooooDnon
00000000 whileODOOOODDOOOOOOOOOODOOODOOOO webOODOODODODO
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oD 1:whileOQOOOOOOOOODOODOOODO

#include <stdio.h>

int main(void){
int i, imax;
int sum;

printf(?10 000000000 000?\t");
scanf ("%d” , &imax);

sum = 0;

i =1;

while (i<=imax){
sum += i;
i4+=2;

}

printf(”?sum = %d\n”, sum);

return 0;

2.1.2 002

odd 2. for0000000O00O0OOOO

#include <stdio.h>
#include <math.h>

int main(void){
int deg;
double rad;
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printf(” \n” );
printf(”deg\tsin\t\tcos\t\ttan\n”);
printf(” n”);

for (deg=0; deg<=360; deg++){
rad = (double)deg/180xM_PI;
printf (?%d\ t%f\t%f\t%f\n” , deg, sin(rad), cos(rad), tan(rad));

printf(” \n” );

return 0;

213 0O0O3

000 3: dowhile0OOOOODODO -3224+9x—-600000000000000

#include <stdio.h>

int main(void){
double x, dx, max_fx, max_.x, new_fx;

int change_max; //0:0 00000 1:000 00
x = —100.0; // x0 000
dx = 0.001; // x00000000
max_fx = —3.0xx*x + 9.0xx — 6.0; // OO0 O0OO0OO0OO00a0
do{
x+=dx ; // 00 x
new_fx = —3.0xxxx + 9.0xx — 6.0; // £(x)0 00
//---- 000000000 --------------
if (max_fx < new_fx){ // 00000000
max_fx = new_fx;
max-X = X;
change_max = 0;
}else{ // 00000000
change_max = 1;
}

}while (change_max==0);

printf (?x = %f0 0 0 f(x)=%f0 00 00 \n”, max-x, max_fx);

return 0;

}

22 0JO00OO00OOOOd
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50+ R )
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W=1IV
=I°R (2)
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000 4: dowhileODODOODODOODOODOOOOOOODOOOOOODDODDO

#include <stdio.h>

int main(void){
double V, R1, max W, max_R, I, R, dR, W;

\%
R1
dR

10.0;
50.0;
0.1;

R = 0;
max W = 0; // R=00 0000 O0ODOOODOO

do{
Ri=dR;

I=V/(R14R);
W = IxIxR;

if (max W < W){ // ODo0oOooooooo
max W =W,
max-R = R;

}

}while (R<=10000.0);
printf("00000000000000\n”);
printf (?\t0O O \t%f\t[O O O]\n”, maxR);
printf (?\t0 O \t%f\t[O O O ]\n”, maxW);

return 0;
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sum=1+2+4+8+16+32+64+ ...

3)

uobooboooobboboobooobobooboooooooooooboooboooao

ooo
gbobooooboooobogoog

sin?6 + cos?6 =1

gboooboboobobooooboboboboooaooaa

deg sin”2 cos”2 sin”2+cos”2
0 0.000000 1.000000 1.000000
1 0.000305 0.999695 1.000000
2 0.001218 0.998782 1.000000
3 0.002739 0.997261 1.000000
4 0.004866 0.995134 1.000000
5 0.007596 0.992404 1.000000
6 0.010926 0.989074 1.000000
gbooooogd

357 0.002739 0.997261 1.000000
358 0.001218 0.998782 1.000000
359 0.000305 0.999695 1.000000
360 0.000000 1.000000 1.000000

(D0 3] 0000 f(x)=2022-123z+280000000000 20000000000 200

(0D 4]

(0D 5]

goopooooorgboobooDO

-10£2£10000000000000000000 00002000000 00.0001

ogooo

fx) = -2+ +1+5sinz

(5)

—1000 <z 10000 000000000000000000000O0OOOO0OOO0O

gbooobbz000000Do0.0001I0000O0

2?2 —z>0
22 4+x—-30<0
22 +2x—-820



4 0OUO

D000000 (90 200)0 AM84500000000000000000000000000000
0000000000000 00000000 (00)0000000
00000000000000000000000000

(0) D0D0DO0O00

(0) 000000000

(0) 0000000

(01 (0)OOOO p60-1590 0000 5000000000000 OOO0OOOOODOOO
ooooooobobooboooooooooooboboooobbooooooboooo
O0o0o0o0ooO0ooOooO0boOoO0O(oo)oooooo

[0D2] (0)000030[0000]0000000000000000

— Dooooooz?

— CO0O00O0O0O0O0O0ODO0OOCchardint, doubled O OO
- 00000 (00)oooooo

— printf 0000000 OO00O0ODO0O

— DoO0ooOoooooooooo

(03] (0)OUOD 40 (00000 )000000O0—if0goto00—00000O0OO0OOOO
gb010000000geto 00000000000 DOOODOOOOOOODOODOOON
ooooon

(04 (0)OOUOOOOOOOOOOOUOOO 000000000 DOOOUOOOUODOOO 2
gboooogooooor0obbooobDO

f(z) = 0.57722% — 3.1415x + 2.7182 (7)

(05 (0)OOOOUOODUOOOOODOOOODUOOOODODOOOOOOODUOOO0O0 00000
g.ooo010OoOonoOoooO

4o — 92— 550 (8)
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